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If  am in the closed angle then

Shoot to point that is between opponent goalie and nearest rolling pin.
Else

Higher the cost of the point based on the distance of them with me

If opponent can't intercept the ball then higher the cost
If numbers of opponent around the point is not zero then lower the cost
If numbers of teammate around the point is not zero then higher the cost
If I’'m nearest to point from another point then higher cost of the nearest point
If goalie of opponent farther to point from another point then higher cost of the farther
point
Kick to point that cost is higher
End if
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